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Question No.l is compulsory, answer any Five
questions from the remaining.

(ii) _ﬂa}aw?ﬁaﬁmﬁﬁmﬁmﬁmﬁf

Solve all parts of a question consecutively to-
gether.

(iii) H@%F §37 F T4 g & AT FHAT 1
Start each question on fresh page.

(iv) arar wrarart & e gt @t Rafe F st sigam &
AT &1

Only English version is valid in case of difference
in both the languages.
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Write the complex number Nl in polar form.
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[f cosA = 3 then find the value of ¢jn24 .
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_ {140 =1+i]
Prove that the matrix A_;I oi 14 |1S@unitary

matrix.

Eﬁqfaaarmﬂmwamaﬁliﬁq (T #F% (a cos a, a sin a)
e B a 2
Find the equation of a circle whose centre and

radius are (a cos o, @ sin «) and a respectively.
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If £()=x"~— than find the value ffﬂ}*ff' ]
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Find the 10th term is Binomial expanison of

y
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Prove that

. 3
sin 20" sin 40° sin 60 sin 80" = 73 62
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Solve the following equations by using inverse
matrix method.

2x-y+3z=9, x+y+z1=0, x-y+z1=2

T2 1hE ey 2 eia (3 _ 3y -5 = o T AAED
A U1 TYMEd ®E ad 1 S |
Find the real root of the equation 4 _3x_-5=0

correct to four places of decimals by Newton
Raphson method. 6x2

T G 1@ I FHIE T S Hiorg A fag (2,- 1) @ o
A Y dx+3v+8=0 F A&

Find the equation of the straight line passes through
the point (2,-1) and perpendicular to the line
4x+3y+8=0.
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Prove that the line y = mx + ¢ touches the parabola.

a
}.-: =da(x+a) if c=am+—, 6x2
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Test the differentiability of the following function
atx=1:-

2
x when0<x <1
X)=
1t {.‘r -x+1, whenx > 1
afr y__“m-l _"]tfld' ‘]_J'j], ar y
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-1 +x+l-x
If y=tan Jl_;; -x thenﬁnd—— 6x2

Hrrm'-r_[ dxmwmm|
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Find the value of integral Ii,, 1 d

J-'S]TI.I T
g A 5 [ g —dr =
1 +cos® .r 4
xsinx nt
Prove that _E‘;i—“d-r=— 6x2
l+cos” x 4 :
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Solve the following differential equations.

, dy
COs" X—+y=tanx
tii'

—T -——=¥y=(0s2a Hx2
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Prove that a conical tent of a given capacity will
require the least amount of canvas when the height

is /2 times the radius of the base.

g 2i-j+3k & BT 91 AW AW 344 W A
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Find the moments of the force 3i+k about the
point 1+2j-k which passes through the point
2i - j + 3k 62




